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The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars on Side-1 and
Side-2 carefully with blue / black ball point pen only.

The test is of 2% hour duration and consists of
150 questions. There is no negative marking.

Use Blue/Black Ball Point Pen only for writing
particulars on this page / marking responses in the Answer
Sheet.

The CODE for this Booklet is E. Make sure that the CODE
printed on Side-2 of the Answer Sheet is the same as that
on this Booklet. Also ensure that your Test Booklet No. and
Answer Sheet No. are the same. In case of discrepancy, the
candidate should immediately report the matter to the
Invigilator for replacement of both the Test Booklet and the
Answer Sheet.

This Test Booklet has five Parts, I, II, IIl, IV and V,
consisting of 150 Objective Type Questions, and each carries
1 mark :

Part I : Child Development and Pedagogy (@. Nos. 1-30)

Part II : Mathematics and Science (@. Nos. 31 -90)
Part I1I : Social Studies / Social Science  (Q. Nos. 31 - 90)
Part IV : Language I - (English/Hindi)  (Q. Nos. 91 - 120)

Part V : Language 11 - (English/Hindi) (Q os. 121 - 150)
Candidates have to do tions 31 to 90 EITHER from
Part Il (Mathematics and Science) OR from Part III (Social
Studies / Social Science)

Part IV contains 30 %t:shons for Lanﬂmﬁe 1 and Part V
contains 30 questions is Test Booklet,

only questions pertaining to E hsh and Hindi lang'unge
hn{:’e ggen given. In ease the lmr;sguage(l) have opted

for as Lan I and/or Language II is a

other than English or Hindi, please ask for a Test
Booklet that contains questions on that lan The
languages answered must tally with the
languages opted in yonr Applieation Form.
Candidates are to attempt questions in
PnrtV( mll)tnalanguageot erthantheona

guage I (in Part IV) from the list of

Rough work should be done only in the space provided in the
Test Booklet for the same.

The answers are to be recorded on the OMR Answer Sheet
only. Mark your responses carefully. No whitener is allowed
for changing answers.
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(2)
PART I / |1 I

CHILD DEVELOPMENT AND PEDAGOGY / st fa@ma 7 frenvmes
R : Aefofas 5949 & 3w 37 # forg & I
fasew g /

Answer the following questions by

selecting the most appropriate option.

i B

Which one of the following statements best
summarizes the relationship between
development and learning as proposed by
Vygotsky ?

(1) Development is independent of learning.
(2) Development process lags behind the

learning process.

(3) Development is synonymous with
learning.

(4) Learning and development are parallel
processes.

What is a major criticism of Kohlberg’s

theory ?

(1) Kohlberg proposed a theory without any
empirical basis.

(2) Kohlberg proposed that moral reasoning
is developmental.

(3) Kohlberg did not account for cultural
differences in moral reasoning of men and
women.

(4) Kohlberg did not give clear cut stages of
moral development.

In a learner-centred classroom, the teacher

would

(1) encourage children to compete with each
other for marks to facilitate learning.

(2) demonstrate what she expects her
students to do and then gives them
guidelines to do the same.

(3) employ such methods in which the
learners are encouraged to take initiative
for their own learning.

(4) use lecture method to explain key facts
and then assess the learners for their
attentiveness.
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(3)

According to Gardner’s theory of multiple
intelligence, the factor that would contribute
most for being a ‘self-aware’ individual would
be

(1) Musical
(2) Spiritual
(3) Linguistic

(4) Intrapersonal

A major difference between the perspectives of
Vygotsky and Piaget pertains to

(1) their critique of behaviouristic principles.

(2) the role of providing a nurturing
environment to children.

(3) their views about language and thought.

(4) their conception of children as active
constructors of knowledge.

A lot of debate surrounds whether girls and
boys have specific sets of abilities due to their
genetic materials. Which one of the following
are you most likely to agree with in this
context ?

(1) Girls are socialized to be caring while
boys are discouraged to show emotions
such as crying.

(2) After puberty boys and girls cannot play

with each other since their interests are
complete opposites.

(3) All girls have inherent talent for arts
while boys are genetically programmed to
be better at aggressive sports.

(4) Boys cannot be caring since they are born

that way.
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A teacher wants to ensure that her students
are motivated intrinsically. She would

(1) specify uniform standards of achievement
for all children.

(2) focus on the processes of learning of
individual children rather than on the
final outcome.

(3) offer tangible rewards.

(4) plan learning activities which encourage
convergent thinking.

Failure of a child to perform well in class tests
leads us to believe that

(1) assessment is objective and can be used
to clearly identify failures.

(2) there is a need to reflect upon the
syllabus, pedagogy and assessment

processes.

(3) some children are deemed to fail
irrespective of how hard the system tries.

(4) children are born with certain
capabilities and deficits.

There are a few children in your class who
make errors. Which of these is most likely to
be your analysis of the situation ?

(1) The children have poor intelligence.

(2) The children are not interested in studies
and want to create indiscipline.

(3) The children should not have been
promoted to your class.

(4) The children have not yet gained
conceptual clarity and there is need for

you to reflect on your pedagogy.
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A student highlights the main points in a
chapter, draws a visual representation and
poses questions that arise in her mind at the

end of the chapter. She is

(1) trying to regulate her own thinking by

organization of ideas.

(2) trying to use the strategy of maintenance

rehearsal.

(3) ensuring observational learning.

(4) trying to use method of loci.

How can a teacher help children become better

problem solvers ?

(1) By giving children a variety of problems

to solve and support while solving them

(2) By encouraging children to look for

answers to the problems in the textbook

(3) By providing correct solutions to all the

problems they pose to students

(4) By giving tangible rewards for solving

problems
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13.

14.

Of the following statements, which one do you
agree with ?

(1) Learning is completely governed by

external stimuli.

(2) Learning cannot take place unless it is

assessed externally in terms of marks.

(3) Learning has taken place only if it is

evident in behaviour.

(4) Learning takes place in a socio-cultural

context.

Which one of these is a principle of child
development ?

(1) Development occurs due to interaction

between maturation and experience.

(2) Experience is the sole determinant of

development.
(3)

Development is  determined
reinforcement and punishment.

by

(4) Development can accurately predict the

pace of each individual child.

In the context of ‘nature — nurture’ debate,
which one of the following statements seems
appropriate to you ?

(1) A child is like a blank slate whose

character can be moulded by the
environment into any shape.

(2) Environmental influences only have a

little value in shaping up a child’s

behaviour which is primarily genetically

determined.
(8) Heredity and environment are
inseparably interwoven and both

influence development,

(4)

Children are genetically predisposed to
what they would be like irrespective of
whatever environment they grow up in.
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(7)

Socialization is a process of

(1) acquiring values, beliefs and

expectations.
(2) assimilation and accommodation.

(3) learning to critique the culture of a
society.

(4) socializing with friends.

Piaget proposes that pre-operational children
are unable to conserve. He attributes this
inability to which one of the following factors ?

(1) Inability of hypothetico-deductive
reasoning

(2) Personal fable
(3) Irreversibility of thought
(4) Lack of high-level abstract reasoning

According to Piaget's theory, children learn by

(1) memorizing information ;W- N due
attention. ) bl

(2) scaffolding provided by more able

members of the society.
(3) processes of adaptation.

(4) changing their behaviour when offered
appropriate rewards.

According to Vygotsky, zone of proximal
development is

(1) zone demarking the support offered by
the teacher.

(2) -t.he gap between what the child can do
independently and with assistance.

(3) the amount and nature of support
provided to the child to achieve her
potential.

(4) what the child can do on her own which
cannot be assessed.
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19. UF WRAEHAH HHFPH H TH HFEAN

A teacher in a multi-cultural classroom would
ensure that the assessment considers the

following :

(1) Reliability and validity of her assessment
tool

(2) Expectations of the school administration
by complying with the minimum levels of
learning

(3) Standardization of the assessment tool
(4) Socio-cultural context of her students

constructivist
classroom would foresee the following role of

An upper primary school

students in their own assessment :

(1) Make detailed guidelines for how marks
would be correlated to students’
achievement and prestige in class.

(2) Students would be the sole determinants
of their own assessment.

(3) Students would plan for assessment with
the teacher.

(4) Denying that assessment has a role in
teaching-learning.

The rationale behind inclusive education is
that

(1) society is heterogeneous and schools need
to be inclusive to cater to heterogeneous
society.

(2) we need to take pity on special children
and provide them access to facilities.

(3) it is not cost-effective to provide for
separate schools for special children.

(4) the benchmarks for performance of each
child should be uniform and
standardized.
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Which one of the following would be the most
effective way to identify a creative child by the
teacher ?

(1) Observing how the child interacts with
peers in team tasks

(2) Administering standardized intelligence
tests

(8) Giving objective type tests

(4) Detailed observation of the
especially when she solves problems

child

A teacher can effectively respond to the needs
of children from ‘disadvantaged sections’ of
society by

(1) telling the ‘other children’ to co-operate
with the ‘disadvantaged children’ and
help them learn the ways of the school.

(2) reflecting on the school system and
herself about various ways in which
]- % m ',I'l- e ‘ :ﬁ‘"_’l ‘

(3) ensuring that the children do not get a
chance to interact with each other to
minimize the chances of their being
bullied.

(4) sensitizing the disadvantaged children to
the norms and strictures of schools so
that they can comply with those.

Research has pointed out that several levels of
discrimination exist in the schools. Which of
these is nof an example of discrimination at
upper primary level ?

(1) Many teachers use only lecture method to
teach.

(2) Dalit children are made to sit separately
during mid-day meals.

(3) Girls are not encouraged to take up
maths and science.

(4) Teachers have low expectations of

lower socio-economic

children from
strata.
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25. 30 ¥ wH-H JfH.aEREaT 9 = 6

Which of these is a characteristic of a child
with learning disability ?

An 1Q below 50

Bullying other children and engaging in
aggressive acts

Doing the same motor action repeatedly

Difficulty in
reversing words

reading fluently and

Which one of the following statements best
describes why children should be encouraged
to ask questions in the class ?

Questions increase the curiosity of the
children.

Questions take learning forward by
interactions and lead to conceptual
clarity.
Children need to practise their language
skills.

Children can be made to realize that they
lack intelligence by making them think of
all the things they don’t know about.

Which one of the following assessment
practices will bring out the best in students ?

When students are required to reproduce
facts as tested via multiple choice
questions

When conceptual change and students’
alternative  solutions are assessed
through several different methods of
assessment

When the marks obtained and the
position secured by the student in the
class are the ultimate determinants of
success

When the emphasis is laid upon positive
correlation between test scores and
student ability

26.

27.

forsrean 2 2

1) 50® f= 6 gfg wfel

(2) I T HI GASHME] a9 AHHF FR
o E

UF F UHR H TeAes B #oan
2T

YHIYETE &9 ¥ Ygd a9 eal W Ieie
S # Hies

(3)

(4)

Frofafes & @ $Ha1 $99 a8 da@ @
Ui Far & 5 Fa § o= B 9w &
FI FiedTiEd A =T 2

(1) v s= it g &t 9ga & |

(2) W FATAfHAT & gET HAfmm FH
Ted & aU1 HeheqaTeds oqseal i fa
T £ |

= H AYT 9N HIVE F FIH
ATTIHAT BT B |

o <fisi & s d <= & 9=d 2 -
TR F foun a3 I8 qEEH W
W Hwa 2 s gfg Hr=ht 2

(3

(4)

frafafes 8 @ 9 e ggfa faen
=1 gataq FuaT i g S ?
(1) = P =t sg-foweda ywi
Hrerm & fopu T wlfiEer % €9 § qe
2ECH I HTEITHAT A B
9§ HehoyATens Yiadd qur feenfg

Jfoss GuET # e
faftrdt & gro streRfora fomam e 2

S e | fqeneff % grr ume e g
3R TIH FHATT 1 THATH HUH B

Fa ghE % 37t R farndf i FrEs
9 HFENHS FEEEEY I 99 e
?

(2)

(3)

(4)
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30.

(11)

The amount and type of scaffolding to a child
would change depending on the

(1) mood of the teacher.
(2) rewards offered for the task.
(3) level of the child’s performance.

(4) child’s innate abilities.

As an upper primary school mathematics
teacher you believe that

(1) students’ errors provide insights into
their thinking.

(2) not all children have the ability to study
mathematics in upper primary school.

(3) boys will learn mathematics without
m@nm&mmhﬂmn’

(4 ah:denta need to possess
knowledge even if they dmt ‘understand

conceptual basis.

Which one of these statements do you agree
with ?

(1) A child fails because the government is

not giving enough technological resources |-

in schools.

(2) A child’s failure can be attributed directly
to the genetic material he/she has
acquired from his/her parents,

A child’s failure is a reflection on the
system and its inability to respond to the
child.

(4) A child’s failure is primarily due to lack of
parent’s education and economic status.

(3)

28'

29.

E
waﬁﬁmiﬁaﬁrm@mﬁm
39 o 7 el Fw
(1)  3reariyhr i TEE
(2 i % fo st R
(3) == % s 1 ww
4) = 6 Aghils Tt

= Wiufis frearem 6 nivE-sefre & w9 8
39 fagamg = & &

(1) fenf & mefml =% fomm #@
Fragfeeal Iuerey wwdt # |

¥= Wafhs faeem & aft s= § e
Ue st Arer & A 8 |

we% v 1 o afos e fee de
ST FEIE a7 IR S fadwar ®
qAT I9H AT F IR AfF @@= A
=1 avIHa ? |

faefdai =1 wrifafus 79 =t 5= 6
AGEHA Bt B, R d EHCHES
aw TE qEHd & |

(2)

(3)

(4)

80. T wUEI A ¥ o9 fHed wewa # 2

(1) T =91 FEA Fe R FiH TR
fargrergt § vafe drenfrfe dEvE Y@=

T RE R

w F= f FEeaar & e g
UTH H YN &9 fden s .
wFar &, T8 3a9 o9a wanfya & afSe
g

T = F OGO HaEY] 991 = H
wfy sfafsen =@ § sohl Emdar &1 &
wfefes & |

T F= H A G §9 F wwan-far
& firen qur s @ § wdt & FwEw
2

(2)

3)

4)




E (12)

Candidates have to do questions 31 to 90| gfigrrfefar &t Tv7 31 @ 90 IT &t AT I (TTfore

\EITHER from Part II (Mathematics and

Science) OR from Part III (Social Studies/

Social Science).

frar) ar wrr o1 (arfas srsgaa | amrk
fagr) @ & E |

PART II / 9T 11
MATHEMATICS AND SCIENCE / nifora = fasm=

Directions : Answer the following questions by
selecting the most appropriate option.

31. Place of mathematics education in the
curricular framework is positioned on twin
concerns :

(1) What mathematics education can do to
improve the score of students in
summative examination and how it can
help to choose right stream in higher
classes

(2) What mathematics education can do to
improve communication skills of every
child and how it can make them
employable after school

(3) What mathematics education can do to
engage the mind of every student and
how it can strengthen the student’s
resources

(4) What mathematics can do to retain every
child in school and how it can help them
to be self-dependent

32. ' LCM of 22, 54, 135 and 198 is
(1) 22x33x5x11
@) 2x3 x5x11
(3) 2°x3%x5x11
(4) 2°x3%x5x11

g : et yo & I 37 & fov qad 3t
fawey giAT /|

81. vl ¥l # i fen #1 T § w7

‘T{%:

(1) i it Fren wfrarers olien § faenf
F 3 gura & foe o1+ gehdt 2 ¢
I wanaA ¥ wh A w1 g w6
FIT GEAT T G B

(2) Tfore & e yee s= § TEmor #n
HI FH GUR Tl 2 A foaem & ¢
3% UITR 9Ty HT Tl 8

(3) TIforg faren v faendf % nfcass =i ¢
T o Thdl & 3 7g faenfa
AT HI HY Yge L Thd! 8

(4) WIH §= & fageg d s e @ F f
TS 1 X Hhal 8 IR IR ATH
94 & fou 8 wrEar & gl 2

32. 22,54, 135 3N 198 F1 A. 9. (LCM) &
(1) 2?2x3x5x11
@ 2x3*x5x11
3) 22x3%x5x11
4 2°x32x5x11

SPACE FOR ROUGH WORK / 1% T4 & ToTe 57T




38.

(13)

In class VI, in the unit of ‘Understanding
Quadrilaterals’, important results related to
angle-sum property of quadrilaterals are
introduced wusing paper folding activity
followed by the exercise based on these
properties.

At this level proof of the angle property is not
given, as the students of class VI are at Van
Hiele level of

(1) Level 2 — Informal Deduction
(2) Level 3 — Deduction

(8) Level 0 - Visualization

(4) Level 1— Analysis

(1) Calculators, rulers, ﬁﬂe nm-nm.
protractors, compass, etc. ' ,ﬁ_

(2) All types of materials including language,

written symbols, meaningful instructions |

to establish their purpose

(3) Physical material like geo-board and 3D
models, cubic rods, etc.

(4) Charts based on formulae and concepts,
graph papers, dotted sheets, etc.

L

E

33. & VI 6 6 Sae # qusEr § 9qde F !

HIN TOH § T ged 9o sEE

Ared * e g it woe mu # el

?mgmﬁmmﬁamﬁqm
l

T ER W RN F OH FOgEO (Y%) T

Tz man R, F9ifs Ham VIS faandff 5o gwg 389

s mmmmE.

(1) TR 2 - A= e
2 w3 - e

(3) FR 0 — gEfEs-famo
(4) FR 1 - faveivo

vt Iy’ JeoiE B

(1) dfiehe ¥ (FopoiRr), W (FeR),
A9 aren BT (29), =iar (FHromms),
THR (HEIH), TeATe

2 wft verR F il Red afes
& - w1, foifga woa, srfqol fder <t foe
99 F TG T

3 ¥ifes wd d§ 5 S (suifieda)
g R ffam (3f) afes, oy =2,
L2114

(4) T 3 Gyl W snyiiE =1, OE 99,
fog *fie, sefe

SPACE FOR ROUGH WORK / T% T4 & o0 wiTg




E (14)
35. Four stages of language development in|35, <h&l-H& # nforg &1 W fsfa @ % &
mathematics classroom in order are TREV S HE H #

(1) Everyday language — Mathematized 1) whfm i ww - T qfifeufa
situation language —> Language of oI s TOrG Y HEE W F B
Mathematics problem solving e aqreT __)m qreT
Symbolic language

) ufafe & wmm o Tm i e

(2) Everyday language - Language of 7w H oW o T aRfefd |
Mathematics problem  solving — T —s TethTeHS WTST
Mathematized situation language —

Symbolic language @) whfE # wm o TE e
T HH H W — FeihcAS T

(3) Everyday language —» Language of nforer affeuf 6 v
Mathematics problem solving — Symbolic
language — Mathematized situation (4) wfafe & HoT - SefEreTs HIE it
language #1 THEEt B FA B hl W

nforera oftfeufa v

(4) Everyday language — Symbolic
language — Language of Mathematics
problem solving — Mathematized

g A g6. wH framefl foreht Rrd omam W Bfed #, ¥
H TEErR ¥, gEm o s H
offeafrdi § S, @99 S S AT
36. A learner exhibiting difficulty in sorting, et zatar & | e R E forg TIEn

recognizing patterns, orienting numbers and

%ﬁ,—&?m Hhdl bl
shapes, telling time and measurement may e @ Lk
have dyscalculia with difficulty in (1) TS S
(1) language processing @) gEETETHE (R G (T
(2) visual-motor coordinati \
vT u i ion @ i 1
(8) visual-spatial skills
(4) visual-memory (4) I

SPACE FOR ROUGH WORK / T% & o forg sire




37.

38.

39.

(15)

CBSE announced the celebration of ‘GANIT
Week’ in schools to commemorate the birth
anniversary of the legendary mathematician,
Srinivasa Ramanujan. GANIT stands for

(1) Growing  Ability in Numerical
Innovations and Techniques

(2) Growing Ability in Numerical
Innovations and Training

(3) Growing  Aptitude in  Numerical
Innovations and Techniques

(4) Growing  Aptitude in  Numerical

Innovations and Training

Learning mathematics at upper primary level
is about

(1) gaining understanding of mathematical
concepts and their applications in solving
problems logieally.

learning lots of new formulae and
algorithms.

remembering solutions or methods of
various types of mathematical problems.
learning problem solving techniques only.

(2)

(3)

4)

Read the following question from class VI
textbook :

“Write a pair of integers whose sum gives a
negative integer.”

The above question refers to
1)
(2)
(3)
(4)

Reflective question
Multi-disciplinary question
Open-ended question
Closed-ended question

37.

E

ﬁumﬁinﬁlgrrﬁm#rhammgm%m

# wf A TR w fAwd 3 canT

Week’ (T @wre’) sam & dwom & |

GANIT %1 34 &

(1) HEAHS FaNR 37 aodts § drgar §
EL

(2) HEATHS FANR 3 uftew § dmgar

b
(8) WeATeH FATE IR A gy §

e
(4) HEATHH FETER I e § sfghy
s

= Y TR Wt ey o e g
(1) TR sruronstt £ www # 9y ek
I FITE A A F adETd w9
8 B B |

FET ER T G 3 afeme shweit @
e |

fafim y#r & 1fidia amensi o
3R faftmt =+t wwor w6 |

FIS GHEINAT B 7 B B aHAE A
Higa |

He VI H sy 8 fefafes g w5y
e :

“giisl F1 T gm ffew, R dmed o
FOTeHF QUi & |7

FR e T w97 3w wn 2

(1) fo=gl ger

(2) wEfawdt gy

(3) A 3d Fre A
(4) w5 39 1T W

(2)

3)

(4)

SPACE FOR ROUGH WORK / T% %14 % feTq wie
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L Sk

41.

42.

(16)

The product of integers between — 7 and — 3 is
(1) 120

(2) =120
(3) 840
(4) -360

Which one of the following statements is
correct ?

(1) Sum of two prime numbers is always a
prime number.

(2) A composite number can be odd.
(3) There is no even prime number.

(4) ‘1’is the smallest prime number.

In geometry class of VI grade students, the
teacher explained the construction of angles
measuring 30°, 60° and 90°, with the help of
demonstration of construction and bisector of
an angle. Then she asked the students to
construct an angle of 15° and an angle of 45°.
This task at this point reflects the teacher’s
intention to

(1) assess the learner’s performance in

summative assessment.

(2) assess the student’s understanding and
ability to combine two skills learnt, to
accomplish the given task.

(3) engage every student in some work,

(4) give the exposure of experiential
learning.

40. - 73R -3 & = o quiieh! 1 TUEHe B

41.

(1) 120
(2) -120
(3) 840
(4) -360

Frafafa & @ SR s wd 2 2

(1) T IAT T3 F1 ITFA T
T ' R |

(2) UH 9SY TE fqun g & gadt 2 |

(3) IS G AWST HEAT TE 2 |

(4) TEE DI NI TV B |

mmwﬁwhmwﬁmiﬁmﬁ
%1 30°, 60° 3R 90° WY F FI0| I =1 T I
s w0 1 wev R | 3E% we fahi
T 15° 3R 45° H1 BV §91 F 70 Fa1 |

36 THY T8 FE FANS B A YA 291 @
3 ER

(1) Toenefl f sgafer = Sfeaams g
T HTHeH FE |

@ fou mwE B @ F R ffE
$1 gH T H@ T g HivEr B gafae
A HT A |

(3) v faendf =t faedt 3 et v & =
wEAT |

(4)  HgvE gt safime @ dier 2

F
[
|
|

SPACE FOR ROUGH WORK / T% &Td % fere s




45.

47.

(17)
E 17 et & & 111 111

The value of 1+ 6 ks 200 + D08 + oy is |43.
(1) 3-3221
(2) 23321
(3) 2245
(4) 2432

44,

The mean of range, mode and median of the
data
4,3,2,2,7,2,2,0,3,4,4 1is
(1) 4
(2) 5
3) 2
(4) 3

The sum of all interior angles of a regular
convex polygon is 1080°. The measure of each
of its interior angles is

(1) 108°

(2) 72°

@ 18° -t e

R P

r-'_

In a quadrilateral ABCD, 2D = 60° and
ZC = 100°. The bisectors of <A and B
meet at the point P. The measure of £ APB is
(1) 80°

(2) 100°

(3) 60°

(4) 70°

In A DEF and A PQR, if PQ = DE, EF = PR
and FD = QR, then

(1) ADEF=ARPQ
(2) ADEF=AQRP
(3) ADEF=APQR
(4) ADEF=AQPR

47.

1+ u +
10
3-3221
2-3321
(3) 2:245
(4) 2432
w3l
4,3,2,2,7,2,2,0,8,4,4
¥ ufter, sgers 3 ATeas 1 ured @
1) 4
(2 5
3 2
4 3
T ITG FH TEYS & Tt 37 PO HT A0THA
1080° & | 39 Ycdsh 3a; vl i AT B
(1) 108°
2) 72°
3) 120°
(4) 135°
% 994F ABCD ®, £ D =60° 3R £ C = 100°
2| £A 3 2B % snfgus fag P fiemd
g1 2APB#I U B
(1) 80°
(2) 100°
(3) 60°
4) 70°
A DEF 3t A PQR #, 3f2 PQ = DE, EF = PR
I FD=QR &, 79
(1) ADEF=ARPQ
(2) ADEF = A QRP
(3) ADEF=APQR
(4) ADEF=AQPR

3L . 111

111
e ——— L ———_"oh] Hi
100 1000 ~ 10000 2

(1)
(2)

SPACE FOR ROUGH WORK / T% ST & 110 W78




48.

49,

50.

51.

T (18)

The perimeter of a trapezium is 104 cm, the 48,
lengths of its non-parallel sides are 18 ¢cm and
22 cm, and its altitude is 16 cm, The area
(in em?) of the trapezium is

(1) 1024

(2) 512

(3) 320

(4) 640

If each edge of a solid cube is increased by
150%, the Percentage increase in the surface | 49-
area is

(1) 525
(2) 625
(3) 150
(4) 225

The radii of the bases of two cylinders are in
the ratio of 2 : 3 and their heights are in the | 50.
ratio of 5 : 3. The ratio of their volumes is
(1) 7:6

(2) 4:9

(3) 20:27

(4) 10:9

One of the factors of
4x2+y2+ 14x — Ty — 4xy + 12 51.

is

(1) 2x+y+4

(2) 2x+y-4

(B) 2x-y+3

4) 2x-y-3

ﬁwﬂmawantr&mme;&nﬁ%,maﬁr
SEHTT Y1371 6T Feamgat 18 a9 a9y 29 A
&, T IEh i 16 & ¥ | Tyona 3
g (B F) 2

(1) 1024

(2 512

(3) 320

4) 640

v&ﬁwﬁmmﬁmwﬁw%ﬁ
ﬁm,ammmﬂgm
2

(1) 525

(2) 625

(3) 150

4) 225

aﬂaﬁ%mzﬁﬁmﬁﬁz:amm
2 ait ST I H 5 3 H o R | I
ra § s 2

1 7:86

(2) 4:9

(3 20:27

(4) 10:9

4x2+y2+14x—-7y-4xy+12
TGS § @ v e
(1) 2x+y+4
(2) 2x+y-4
@) 2x-y+38
(4) 2x-y-3

SPACE FOR ROUGH WORK / T &1 & oo g
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52.

53.

55.

(19)

What should be subtracted from _75 to get

T2y
3
29
(1) T
-29
21
1
21
-1
21
In standard form, 0-00001278 is expressed as
k x 10™, The value of (k +n) is
(1) 3278
(2) —-3-722
(3) 4722
(4) —3-278
The least number which must be added to
893304 to obtain a perfect square is
(1) 1521
(2) 1612
(3) 945
(4) 1042

The value of 3—91125 — §512 is

(1) -53
(2) 73
(3) -37
(4) 42

2)

(3)

(4)

The values of y for which the 4-digit number
51y3 is divisible by 9 is

(1) 20r3

(2) OQor 3

(3) 3or9

(4) Oor 9

52.

53.

55.

%ﬁﬁwmmﬁ?"—;mﬁr?

(1) %
@) %9-
3) 311-
@ =

0-00001278 ! HF® &9 & k x 10" §RI =T
fF ST R | (k+n) HTAE B

(1) 3278

(2) -3722

(3) 4722

(4) -3278

9% o o1 e 58 893304 H gd W T
qui =ty @, e R

(1) 1521

(2) 1612
(3) 945
(4) 1042

3-91125 — 3512 HHEA &

(1) -53
(2) 73

(3) -37

(4) 42

y &% "F fE8 4.3 ol @@ 51y3, 9 ®
f%mwg‘t,ﬁn’é:

(1) 2313

2 0313

(3) 3919

(4 039

SPACE FOR ROUGH WORK / T% T & [eT0 W8
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57.

58.

(20)

In the product (x* - 2) (1 - 3x + 2x°) the sum of
coefficients of x° and x is

(1) 5

(2) 6
3) 2
4) 3

The scale of a map is 1: 3 x 10°%. Two cities
are 9cm apart on the map. The actual
distance (in km) between the cities is

(1) 180
(2) 360
(3) 135
(4) 270

The value of a machine which was purchased
two years ago, depreciates at 12% per annum.
If its present value is ¥ 9,680, for how much
was it purchased ?

(1) ¥ 12,142-60
(2) T 12,500
(3) ¥ 10,200
(4) ¥ 11,350-50

As per NCF 2005, the goal of mathematics
teaching in school curriculum is that children
learn “Important Mathematics”.
Important Mathematics implies

(1) understanding appropriate use of learnt
mathematical techniques.

(2) verifying geometrical theorems in Maths
Lab.

(3) knowing mathematical procedures and
algorithms.

(4) solving mathematical games and puzzles.

57.

58.

TOR%A (x2 - 2) (1 - 83x + 2x?) H x2 3 x
TOTieR! T IR B

1 5

(2) 6

3 2

4) 3

@Wﬁiﬂm(male)l:fixlosi

wAfe § 3 7R 9 Tl fif gt w F | T

i arafas gt (et ) @

(1) 180

(2) 360

(8).,135

(4) 270

3 ¥ gga @il T R wfm % g

12% A T F Faqeaq B@T & | IR 3@

AW od T 9,680 B, ° FHHT 3T Iod

o1 ?

(1) T 12,142:60

(2) T 12,500

(3) ¥ 10,200

(4) T 11,350-50

T grewEal i FHEr (T.HLU.) 2005

7aR, faer weu=at & 1fm & e

a= g e f6 s= “gwEwefl af)

#g | yyraeft wfta @ e 2

(1) it 78 it qetRl B gm0 3
fafanfsa (sfm) swm = |

(2) Tt i wErETen § safidE yaE
e+ |

(3) ety wrlvgfeat it afmem gk
(Terifen) &1 919 |

(4) Thrfia wet ok wRfeEt # g s |

SPACE FOR ROUGH WORK / T% &hTd & o1 5718
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61.

62.

(21)

An object is vibrating at 5000 Hz. The time |61.

period of the sound produced is
(1) 0-005s

(2) 0-0002 s

(3) 05s

(4) 0:02s

Consider the following terms : 62.

A. Lightning
B. Landslide

C. Thundering

D. Tsunami

E. Floods
Earthquakes can cause
(1) B,DandE

2) A BandC

(3) Bonly

(4) BandE

T
Select the correct statement regarding rods |63

and cones in the human eye :

(1) Cones are sensitive to dim light.
(2) Cones are sensitive to bright light.
(3) Rods can sense colour.

(4) Rods are sensitive to bright light.

Which one of the following planets has no (g4,

natural satellite of its own ?
(1) Uranus

(2) Venus

(8) Jupiter

(4) Mars

E

HI§ 95 5000 Hz T F999 & & 8 | Ieqo
e &1 3Ed w1 B

(1) 0005s
(2) 0-0002s
(3) 05s

(4) 002s

Ha 43 § wiemiel 3R whel & fawg § wd
HYF FT T3 FIfU :

(1) ¥i% g b &+ forg gomd & € |
@) i e g & forg gurEl B € |
(8) VIATHTC Uit (M) it Ifa gt § |
(4) viETHTd e W % fore gumE A ¥ |

frafafea uel 4 @ fram srom +8 wfes
390E 7@ 8 7

(1) ="

(2) Ik

(3) el

(4) ¥
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65.

66.

67.

(22)

‘Good science education’ ghould fulfil some
basic validity. Which one of the following
validities is most appropriately fulfilled by the
concept of ‘shadow formation’ in class VI
syllabus at upper primary level ?

(1) Process

(2) Environmental
(3) Content

(4) Cognitive

A teacher frames a learning objective as -
«Making a device using simple electric circuit.”
This learning objective is matching with which
cognitive process ?

(1) Understanding
(2) Analysing

(3) Remembering
(4) Creating

Which one of the following statements about
scientific knowledge would you not agree
with ?

(1) Scientific knowledge is absolute, certain
and eternal.

(2) Scientific knowledge is socially and
culturally embedded.

(3) Scientific knowledge is theory laden.

(4) Development of scientific knowledge
involves imagination and creativity.

Which one of the following is the most
appropriate technique of assessment of
attitude and values development among
students by science education ?

(1) Paper-pencil test
(2) Check-list
(3) Rating scale

65.

67.

(4) Observation

‘uﬁﬁﬁmﬁm’aﬁ’tgﬁsmm
wmaﬁmaﬁmﬁﬁwmmmw

e # o w9 % §Eed g
ﬁﬁaﬁq-‘éﬁ%mmmﬁﬁaﬂﬁﬂﬁ

AT R ?

(4) GAHTHSD

@ﬁtﬁﬁﬁeﬁaﬁxﬂqaﬁwaﬁwmm
%a‘wwmwmmm
%1 Fwor g s e A3 R
%aéaﬂﬁwmﬁgﬁmm%?

@) %ﬁmmﬁzﬁﬁ%ﬁm%i

(4) awﬁﬁm%ﬁmﬁmmﬁ
@mﬂwqﬁ%ﬁﬁﬁil

g fren g ST A sftreafidl T
m%mtmmﬁm
e e A ST B 2

) AR e

@) stegsh (35w

3) e =

(4) FFARA




69.

70.

71.

72.

(23)

Consider the following edible plants :
A. Banana

B. Brinjal
C. Lady’s finger
D. Pumpkin

Select from these a pair of plants which has
two or more than two edible parts :

(1) CandD
(2) AandD
(3) AandB
(4) BandC

Which one of the following sets is the
combination of organs of human digestive
system that do nmot carry out any digestive
function ?

(1) Oesophagus, large intestine, rectum

(2) Buccal cavity, large intestine, rectum

(3) Buecal cavity, oesophagus, rectum

(4) Buccal cavity, oesophagus, large intestine

Study the following statements about villi

(singular villus) :

A. They have very thin walls.

B. They are finger-like projections.

C. They have a network of thin and small
blood vessels close to the surface.

D. They have small pores through which
food can easily pass.

Identify the statements which give the
characteristics that enable the villi to absorb
the digested food.

(1) CandD only
(2) A,BandC

(3) Aand B only
(4) Band D only

Select from the following a set of ruminants :
(1)
(2)
(3)
(4)

Buffalo, cow, deer
Buffalo, cow, dog

Cow, deer, dog
Cat, buffalo, deer

69.

70.

71.

72.

frfafaa @m-arg dui w fa=r Fifsw .
A. el

B. &mH

c. fuvd

D. &g (Fnfiea)

T F 9N & v g gh e g @
aﬁ%@ﬁ-ﬁuﬂmﬂ%‘%

(1) C3RD

(2) A3WD
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(2) H4@ e, g8gH, TAE
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Sometimes after doing physical work we get
muscle cramps. This results due to

(1) non-conversion of glucose to pyruvate.

(2) non-conversion of glucose to lactic acid.
(3) conversion of pyruvate to lactic acid.

(4) conversion of pyruvate to alcohol.

Which one of the following shows the correct
sequence of the path of urine in the human
excretory system ?

(1) Kidney — Urinary bladder — Ureter
— Urethra

(2) Kidney — Urinary bladder — Urethra
— Ureter

(3) Kidney — Urethra — Urinary bladder
— Ureter

(4) Kidney — Ureter — Urinary bladder
— Urethra

A bus covers the first 10 km of its journey at
an average speed of 40 km/h and the
remaining 45 km at an average speed of
60 km/h. The average speed of the bus for its
total journey is

(1) 52-5 km/h

(2) 50 km/h

(8) 575 km/h

(4) 55 km/h

Which one of the following can be used to form
a virtual and magnified image of an object ?
(1) Both convex mirror and convex lens

(2) Both concave mirror and convex lens

(3) Concave lens only

(4) Convex lens only

Polio is caused by a
(1) Protozoa

(2) Virus

(3) Bacteria

(4) Fungi

73.

74-

75.

76.

77.
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(3) Fad IEa @

(4) Had I 9

qiferat &1 FHH B
(1) SR
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78. A class vIII student makes the statement : 78. & VI % et faemeff =7 T’ FUT B, ‘@y
“We live inside the Earth ang it is round, Wﬁr&%iaﬁrwiﬁa%a‘haﬁw%%

That’s why Columbus’s ship returned to the
starting point.” How is the science teacher of
class VIII best advised to react ?

(1) Challenge the child’s idea by Presenting
Pictures taken from the space and
helping her in understanding how large
the radius of the Earth is,

(2) Explain that although the Earth is round
like a ball yet it appears circular like g
plate,

(3) Accept the statement ag jt indicates the
child’s idea and needs to be respected.

(4) Reject the Statement and te]) the child

(2) zﬁwwﬁﬁqﬁawﬁrw
uﬁﬁa%vqazawﬁ(ﬁz)ﬁwﬁr
IR Tefid &eft § |

(3) wmaﬁmw%mmﬂﬁ%
%ﬁﬁmﬁéﬁawé,ﬁ%

that it is like a globe and we live on the R ez ST ET%Q !
surface of the round Earth, W W w fww sy sk T 3
I 5 gt i 1w 2 s i
79.  Which one among the following is noy a 9eft it Tag w7 @R
szﬁiie:Tv of science education at upper 9. Frefk F 3 a3 C— -
' o frer 1 ifin s2v 78 3 9

(1) To knew the facts and principles of
science and its applicationg

(2) To gain the knowledge available through
memorising the content and process of

(2) ﬁmﬁw&—mﬁaﬁtﬁwﬂ@aﬁaﬁm

science T T 7 gy HET
(3) To imbibe the values of honesty, integrity (3) gm‘-ﬁ.’Tﬁ, Fefasar e AT % w I
and cooperation 311?5!’141?[ ST

(4) To nurture the natural curiosity,
aesthetic senge and creativity in science

and technology Tryo
80. Which one among the following questions [80. fiferReg w g B h-31 et g’
would be an ‘open-ended question’ ? 22
(1) Explain why we always see the same sige (1) = EﬁﬁTQ% B T3 T &y T #
of the moon, qg (‘ﬂﬁ) =i @ g1

(2) mm,ﬁmmmmm
Bmﬁfam,?ﬁwaatﬁww

3) ﬁa%mwmqﬁf&ﬁlw
afed same Hifi |

(4) mmmﬁﬁqﬁwa?

(2)  Suppose the moon emits light of itg own,
would it still have phases ?

(3) Meteors are not visible during the
daytime. Explain the reason.

(4) Why does the moon change its shape
daily ?
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Which one among the following situations
gives the learners the best opportunity to
‘discover knowledge’ ?

(1) Students being instructed through ‘team
teaching’ on ‘materials of daily use’

(2) Students being first shown the
demonstration of ‘Archimedes Principle’
followed by a detailed explanation

(3) Students labelling the given materials as
‘conductors’ and ‘non-conductors’ by
placing them in a self-assembled closed
electric circuit

(4) Students undergoing an elaborate and
detailed session of ‘programmed
instruction’ on the topic ‘components of
food’

I put one ear on a steel railroad track.

A. I am able to hear the approaching train
sooner through the track than through
the air.

B. Sound travels faster through steel as
compared to air,

C. Sound travels faster through solids as
compared to gases.

Of the above three statements, identify which

ones are observations and which are

inferences.

(1) B is an observation and A and C are
inferences.

(2) C is an observation and A and B are
inferences.

(3) A and B are observations and C is an
inference.

(4) A is an observation and B and C are
inferences.

Describing the relationship between the
distance travelled by a ball that is rolled on
the inclined plane and the angle of the plane
by constructing a graph is an example of

(1) Hypothesizing
(2) Predicting

(3) Interpreting

(4) Communicating

81.

82.

frafafigs # @ s offtafy frenfi #

gﬂﬁ@a’%mwﬁmmm
2

(1) faenfei =1 Fm e’ gro A I
framia’ s d R d & 2

(2) fafiai = e ‘aonfdfids & fag
%1 fey femmn mn @ 3k i faega
T T B

(3 faeneff & ¢ amiiE + =9 =9, =2
fagg vy & @ = w S o

‘e (fagatdl) % dea e @
(4) Toenefi ‘m % sreEE favw w Yom
A & HuiteRd 7R faega | & wm
dwE
# U T FE e hi @ H 92l W @
4
A # a7 aeh 3 @ @l ag i g §
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(1) BY&0T 2 a91 A 30 C fsed & |
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(8) A3 BUH # aur C Fed B |

(4) AYeor 2 Ju B 3k ¢ freed # |

et s (fed) smae =, o iz & g
qeHd gU a7 HI T gl 3N W IHa ()
A & BV F A9 F Y H TS TTH
T femmn o 2 | 37 Fefefaa § @ fhaen
I 2 2

(1) 9fEeaaT HET

(2) I AT
8) Trd=m/aTEn w
(4) TEINE &
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84. TR & G fafdre ot

The common characteristic properties of
plastics are

(1) durable, good conductor of electricity,
non-reactive

(2) good conductor of heat, light in weight,
good conductor of electricity

(3) durable, light in weight, non-reactive

(4) durable, good of heat,
non-reactive

conductor

Consider the following statements about
biodiversity :

A, It refers to the total number of
individuals of a particular species living
in an area.

B. It refers to only the flora and fauna of a
particular species in a given area.

C. It refers to the various (variety of) species
of flora and fauna present in an area.

D. It is an artificially protected area for
animals.

The true statement(s) about biodiversity is/are
(1) A,BandC

(2) A,CandD

(3) A and B only

(4) Conly

Consider the following terms related to cells :

A, Chromosome

B. Gene
C. Nucleolus
D. Ribosome

Out of these, the parts of nucleus of a cell are
(1) CandDonly

(2) A,BandC

(3) AandC only

(4) BandC only

(1) Fws, fagg & g,
a-aafufRamsfia

(2) FH F FATH, a9 § gk, fagq F
ElED

(3) Thrs, a9 ¥ g, sm-fframsfa

(4) T, F90 % gues,
77 fufsramsiie

Safafgus & w=d 4 fofafes s w

faam Hifsm .

A %% freft & 8 o 9 Tl e fagw
wiisfis % =t i $o F@ #1 Jead
HTA 2 |

B. 37& foreft fu mu &3 & Faw giewsE ik
yrforsa 1 frdt fag efisfie =1 seo@
FAl B |

C. %& fFft fiu T &3 F uggem@ ok
it &t fafim (ffaw) e =
Ieoi@ HA B |

D. ¥g 9at % fow FBm w9 ¥ s w0
U GriE 85 R |

Sa-fafaua & w=of § w8 wum 23

(1) A,B3RC

(2) A,C3MWD

(3) Hasd AN B

(4) FaEC

HIfvw ¥ wafm frefafes @ w far

Hifsw .

A REEW (ToEH)

B. M

C. —fFasiem (H=)

D. W

T & foret wifimm % % & ym §

(1) %aa ¢ 3dRD

(2) A,B3RC

3) wHaWAMC

4) HIABIRC
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In human beings, the correct sequence of the
events during reproduction is

(1) zygote, gamete formation, fertilisation,
embryo

(2) gamete formation, zygote, fertilisation,

embryo

(3) gamete formation, fertilisation, embryo,

zygote

(4) gamete formation, fertilisation, zygote,

embryo

Which one of the following elements must be
available in sufficient quantity in the water of
a pond in at tadpoles are growing ?

(1) Oxygen

(2) Nitrogen
(3)
(4)

Chlorine

Iodine

An object of mass 6 kg is sliding on a
frictionless horizontal surface with a uniform
speed of 3 m/s. The force required to keep the

object moving at the same speed along the
same straight line is

(1
(2)
(3)

27 newtons
54 newtons

zero newton

(4) 18 newtons
Tartaric acid is found in
A. Lemons

B. Amla

C. Unripe mangoes
D. Grapes

(1) AandB

(2) CandD

(3) AandC

(4) BandC

87.

urEl § S 6 srafy i gemns & wd w
(1) I, Jueh a4, Fo=a, go
(2) FWF a1, FHA, v, yo
(8) FWS 1, Fv=m, yo, I
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E

Candidates have to do questions 31 to 90
EITHER from Part II (Mathematics and
Science) OR from Part III (Social
Studies/Social Science).

ahemfefat &t wvT 31 @ 90 T At WT I (ToTT &
fazr) ar wrr [ (qrarfas ssaa | arErfae
famm) @ &= &/

PART III / 9T 111
SOCIAL STUDIES / SOCIAL SCIENCE (umarferes srsgaa / @mantaes f&amme)

Directions : Answer the following questions by
selecting the most appropriate option.

31. Which one of the following is not a component

of maps ?
(1)
(2)
(3)
(4)

Size
Symbols
Distance
Direction

32. What is the angle of inclination of the Earth’s

axis with its orbit plane ?

1'}
(1) 23§

(2) 45°

661

3) 3

(4) 90°

33. The ‘Janpad Panchayat’ has

(1) many Zila Parishads under it.
(2) many Municipal wards under it.
(3) many Gram Sabhas under it.

(4) many Gram Panchayats under it.

34. Consider the following two statements, A and
B, on ‘Social advertisements’ and choose the

correct answer :

A. Social advertisements are those
advertisements that have larger message
for the society.

B. Social advertisements are made only by
the State.

(1) Both A and B are false

(2) Both A and B are true

(8) A is true and B is false

(4) A isfalse and B is true

A : Fefafes 3o7 & I &7 % forw qaa I
faFeT g7 |/

Frafafaa 4 @ gafast & 90 & 9es 78
22

(1) PR

(2) s

@ 7
(4) fem

FH wefm wIaa W gE F A@ F gEE
(smfa) o w2 2

1°
23—
2

31.

(1)

(2) 45°

o

1
3 6—
(3) 62

(4) 90°

S9e vEEd % I

(1) 3 forem afteg 2 & |
(2) 8 TRUTfereT 9TE B4 & |
(3) % um FuTd Bt § |
(4) % U 9IEd B B |

oy fasmeEt @ Frferfea & i, A sk

B, W fum #ifsw ok @dt s &1 9

Hifdw

A amfae fagmem 3 fagoe & o s &
fore foga w0 w39 =1 oo FA # |

B. wamifae fasmes Faa TR (T9) M

weqa e 9w # |

A 3R B i T &

A 3R B2H &

ATE 2 3 BT B

AT € 3t BEd 2

(1)
(2)
(3)
(4)
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Which one of the following states of India is
popular for the ‘Kalamkari print’ ?

(1) Tamil Nadu

(2) Karnataka

(3) Andhra Pradesh
(4) Punjab

Which one of the following tribal groups is
mainly confined to Uttarakhand ?

(1) Gonds

(2) Mala Irular
(3) Bhil

(4) Bhotia

Who among the following rulers were best
known for controlling the ‘Silk Route’ around
2000 years ago ?

(1) Kushanas

(2) Pandayas

(3) Cheras

(4) Cholas

Under ‘Subsidiary Alliance’, the East India
Company forced the Indian rulers of the states
to

(1) have their independent armed forces, not
get protection by the Company, but still
pay towards its maintenance,

(2) not have their independent armed forces,
get protection by the Company, without
any payment towards its maintenance.

(3) have their independent armed forces, as
well as get protection by the Company
and pay towards its maintenance.

(4) not have their independent armed forces,
but only get protection by the Company
and pay towards its maintenance.

35.

37.
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Which one of the following is not a fact about
Ahom ?

(1) The Ahom state was divided into clans
called Paiks.

(2) The Ahom society was very sophisticated.

(3) The state of Ahom was created by
suppressing the older political system of
the Bhuiyans.

(4) The Ahom state depended upon forced
labour.

The term, Hagiography refers to

(1) writing of a saint’s biography

(2) writing of a saint’s autobiography
(3) writing of a ruler’s biegraphy

(4) writing of a ruler’s autobiography

Which one of the following is a type of tropical
grasslands ?

(1) Savanna

(2) Steppe

(3) Down

(4) Pampas

Consider the following two statements, A and
B, about food security and choose the correct
answer :

A. The ultimate aim of agricultural
development is to increase food security.

B. Food security refers to the existence of
availability of food to all people in the
times of natural calamities, when there
occurs a shortage of food.

Both A and B are true
Both A and B are false
A is true and B is false

(1)
(2)
(3
(4)

A is false and B is true

39.
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Which one of the following is not considered
as a fossil fuel ?

(1)

(2)
(3)
(4)

Petroleum
Natural gas
Firewood
Coal

Which one of the following may cause
tremendous destruction only on the coastal
areas ?

(1) Tsunami

(2) Volcano

(8) Tides

(4) Earthquake

The innermost layer of the Earth is
made up of

mainly

(1) Silica and Iron

(2) Nickel and Alumina

(3) Silica and Alumina

(4) Nickel and Iron

Which one of the following features is a result
of depositional work of a Fiver ?

(1) Meanders

(2) Ox-bow lake

(3) Waterfall

(4) Flood plain

During an earthquake at what measurement
on the Richter scale do things begin to fal] ?
(1) 60 or higher

(2) Over7-0

(3) 20

(4) Over 50

44,

45.

47.
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Which one of the following was introduced
with the coming of British art in India during
the colonial period ?

(1)
(2)
(3)
(4)

Mural art
Oil painting
Perspective

Miniatures

Around 2000 years ago, Varanasi was a
famous craft centre where Shrenis were

(D
(2)

Buddhist monasteries.

associations  of and

merchants.

craftspersons

(3) iron ploughshares used for agricultural

production.

(4) coins that have designs punched on to the

metal.

Consider the following two statements, A and
B, on manuscripts and inscriptions and choose
the correct answer :

A. Manuscripts were usually written on
palm leaf or on the specially prepared
bark of a tree known as birch.

B. Inscriptions were written on relatively
hard surfaces like stone and metal.

Both A and B are true
Both A and B are false
A is true and B is false
A is false and B is true

(1)
(2)
(3)
(4)
Which one of the following was the language
of administration under the Delhi Sultans ?

(1)
(2)
3)
(4)

Persian
Hindi
Arabic
Urdu
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In Buddhism, Bodhisattvas were

(1) Persons who attained enlightenment.
(2) Chinese Buddhist pilgrims.

(3) Buddhist scholars.

(4) Statues of Buddha.

Which one of the following was not the
condition to become a member of a Sabha in
the Chola Empire ?

(1) They should be between 25 and 70 years
of age.
(2) They should have their own homes.

(3) They should have knowledge of the
Vedas.

(4) They should be owners of land from
which land revenue is collected.

The Rowlatt Act, 1919 was opposed because

(1) it gave right to separate electorates to
Muslims.

(2) it disallowed Indians from possessing
arms.

(3) it curbed the Fundamental Rights like
Freedom of expression and strengthened
police powers.

(4) introduced dyarchy in provinces.

Many of Chanakya’s ideas were written in a
book called the

(1) Atharvaveda

(2) Yajurveda

(3) Dharmashastras

(4) Arthashastra

Garbhagriha, the most important part of some

of the earliest Hindu temples, was

(1) the place in the temples where people
could assemble.

(2) caves elaborately decorated with
sculptures and painted walls.

(3) the place where the image of the chief
deity was installed.

(4) the place where religious rituals were not
performed.
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57.

58.

59.

(35)

Which one of the following grasslands is the
homeland of Native Americans ?

(1)
(2)
(3)
(4)

Steppe
Pampas
Velds

Prairies

Breeding of fish in specially constructed tanks
and ponds is known as

(1) Pisciculture
(2) Horticulture
(3)
(4)

Sericulture

Viticulture

Bering Strait is a narrow stretch of shallow
water that connects

(1) Pacific Ocean and Atlantic Ocean
(2) Arectic Ocean and Pacific Ocean
(3) Indian Ocean and Pacific Ocean

(4) Atlantic Ocean and Indian Ocean

“On 215% March and 23™ September, the
whole Earth experiences equal days and
nights.” This is because

(1) Direct rays of the Sun fall on the equator
and at this position, none of the poles is

tilted towards the Sun.

(2) Direct rays of the Sun fall on the Tropic
of Cancer and at this position, one of the

poles is tilted towards the Sun.

(3) Direct rays of the Sun fall on the equator
and at this position, one of the poles is

tilted towards the Sun.

(4) Direct rays of the Sun fall on the Tropic
of Capricorn and at this position, none of

the poles is tilted towards the Sun.
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61.

62.

(36)

What kind of language needs to be used in
Social Science teaching ?

(1) Representative of dominant groups

(2) Discriminatory

Neutral and sensitive

(3

(4) Difficult

Projects on democratic institutions could be
done to show that

(1) they can be analysed to identify features

and challenges.
(2)
(3)
(4)

they are, as described in the textbooks.
they are ineffective.

students must accept these institutions
as they are.

Summative assessment is inappropriate for
the following :

(1) Deciding upon the grade

(2) End of the term assessment

(3) Monitoring the progress of

teaching-learning process

(4)

Summarising student learning

What are pie diagrams useful for ?

(1) Showing features of a historical period

(2) Comparing different amounts

(3) Showing a particular amount in relation

to the whole

(4)

Showing a pattern
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67.

(37)

Each chapter of the History textbook for |65.
class VI is introduced by a young girl or a boy.
Why do you think this strategy has been

adopted by the textbook makers ?
(1) To show boys and girls can study history
(2) To evaluate the content of the chapter

(3) To inculcate a spirit of enquiry and
discovery in students

(4) To show how introduction can be done

“You are a peasant in Alauddin Khalji's or
Muhammad bin Tughlag’s reign and you
cannot pay the taxes demanded by the Sultan.
What will you do ?”

In the above question what is
encouraged ?

being

(1) Historical imagination
(2) Importance of sources
(3) Respect for culture

(4) Importance of literature

At the upper primary stage, Geography and |67
Economics together can help in the following :

(1) Developing a perspective on issues of
environment, resources and development

(2) Understanding plurality

(3) Developing knowledge of places and
environment

(4) Understanding optimal allocation of
resources

When is formative evaluation conducted ?
(1) At the end of the session

(2) Before teaching a new unit

(3) During teaching-learning process

(4) At the end of a unit
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(38)

Biases, discrimination and prejudices in the
classroom could be avoided by

(1
(2)

organising a lecture on humanity.

ignoring them, as children will grow out
of them one day.

(3)

discussing different dimensions of social
realities.

(4) handing out the Preamble of the

Constitution.
Teacher ‘B’ is currently teaching a lesson on
history of a region. What do you think ‘B’
should do ?

(1) Highlight the similarities and changes in

different time periods.
(2) Highlight identities of different rulers.

(3)

Encourage the students to remember the
main features of the period.

(4) Highlight the similarities of the present

with the past.

What is the purpose of evaluation ?
(1
(2)
(3)
(4)

To identify problem students

To rank children

To encourage competition

To improve teaching-learning processes
Historical films are useful in Social Science
teaching as they

(1) concentrate on an individual’s problem.

(2) portray history as fiction.

(3) bring alive various dimensions of a
specific social setting.

(4) have good entertainment value.

What kind of outlook should be there towards
Social Science textbooks ?

(1)
(2)
3)
(4)

As a document to be memorized
As an avenue for further enquiry
As a repository of knowledge

As a final statement
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74.

75.

76.

7.

(39)

Tawa Matsya Sangh, a federation of
fisherworker’s cooperatives is an organization
fighting for the rights of displaced forest
dwellers in the State of

(1) Uttarakhand

(2) Chhattisgarh

(8) Jharkhand

(4) Madhya Pradesh

Which one of the following Fundamental

Rights is mof guaranteed to every arrested

person under the criminal law as stated in

Article 22 of the Constitution ?

(1) Confessions made in police custody can be
used as evidence against the accused.

(2) The Right not to be ill-treated or tortured
during arrest or in custody.

(3) The Right to be informed at the time of

arrest of the offence for which the person

is arrested.

The Right to be presented before a

Magistrate within 24 hours of arrest.

(4)

The Members of Legislative Assembly are
(1) elected by the people.

(2) appointed by the Governor.

(3) appointed by the Prime Minister.

(4) appointed by the Chief Minister.

A coalition government implies

(1) Power sharing between two or more
political parties after elections when no

party has been able to get a clear

majority.

(2) Power sharing between State
Government and Panchayati Raj
Institutions.

(3)

Power sharing between government at
the Centre and State.

Power sharing between executive and
judiciary.

(4)
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79.

80.

81.

82.

(1) Geography, History, Politica] Science ang

(2)  Politica] Science, Geography, History ang
Sociology

(3) History, Geography, Politica] Science ang
Environmental Science

4) History, Geography, Economics and

Environmental Science 79.

The position Paper on Teaching of Social
Science emphasiseg

(1) respecting different opinions and
€xamining ideag and practices.

(2) accept socig] hierarchijes.

(3) increasing the use of textbooks,

(4) €ncouraging memorization,

Maps ang diagrams ip a Socia] Science
textbook are relevant a5 they

(1) adda new dimension ¢, a concept,
(2) are made by experts,

(3) make 4 textbook attractive,

) clarify 5 concept,

(1) Solutiong to the movement

(2) Backgroung of the movement
(3) Objectives of the movement

(4)  Problem areas of the movement
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85.

(41)

Which one of the following is not a function of
the Gram Panchayat ?

(1) Executing Government schemes related
to generation of employment in the
villages

The construction and maintenance of the
infrastructure of the villages

Levying and collecting local taxes

Gram Panchayat elects its Panchayat
Secretary

(2)

(3)
(4)

Which one of the following does not fall within
the purview of Civil Law ?

(1) Disputes related to sale of land

(2) Harassing a woman for dowry

(3) Filing a divorce case

(4) Claiming custody of children

Which one of the following statements is
incorrect about the Jjudiciary ?

(1) Judiciary has the power to strike down
laws passed by the Parliament.

The judicial system provides a
mechanism  for  resolving disputes
between citizens, between citizens and
the government, but not between two
State governments,

The legislature and the executive cannot
interfere in the work of Jjudiciary.

It plays a crucial role in protecting the
Fundamental Rights of citizens.

The Right to Constitutional Remedies

(1) allows only the linguistic minorities to
approach the court if they believe that
their cultural and educational rights
provided in the Constitution have been
violated by the State.

allows all citizens to approach the court if
they believe that any of the Directive
Principles of State Policy have not been
fulfilled by the State.

allows citizens to approach the court if
they believe that any of their
Fundamental Rights have been violated
by the State.

allows only the religious minorities to
approach the court if they believe that
their cultural and educational rights
provided in the Constitution have been
violated by the State.

(2)

(3)
(4)

(2)

(3)

(4)
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87.

88.

89.

(42)

The ‘Civil Rights Movement’ was started in
the USA
(1) to demand equal rights and address

racial  discrimination for all the
African-American citizens,

(2) to demand voting rights
African-American men.

(3) to demand social security of the
African-American senior citizens.

(4) to demand voting rights
African-American women.

of the

of the

Which one of the following statements is not
true about the Parliament of India ?

(1) In the matters dealing with finances, the
government does not require
Parliament’s approval.

(2) The Parliament while in session, begins
with a question hour,

(3) The Parliament consists of the President,
the Rajya Sabha and the Lok Sabha.

(4) The Parliament in our system has
immense powers because it is the
representative of the people.

While teaching Social Sciences, a teacher must
attempt to

(1) focus upon remembering the details,

(2) focus upon facts, values and patterns.

(3)  focus only upon facts, but not on values.
(4) focus only upon values, but not on facts.

Suppose the prescribed Social Science
textbook is difficult for the students. What will
youdo ?

(1) Provide a variety of supplementary
materials.

(2) Dictate summaries of each lesson.
(3) Use question-answer technique.
(4) Emphasise rote learning,
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Candidates should answer questions
from the following Part only if they
have opted for ENGLISH as

LANGUAGE - 1.
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The real indictment against colonialism was to

except in the limiteqd Civil Service. The towns and 93,

And the children, the little children of the
Indian villages, how they tore at my heart; thin, big
bellied, and all with huge dark eyes! I wondered
that any Englishman could look at them and not
excuse himself. Three hundred years of English
Occupation and rule, and could there be children like
this ? Yes, and millions of them!

And the fina] indictment surely was that the
life span in India wasg only twenty-seven years,

as many ag possible, before he died. I loved England,
remembering al] the happy Journeys there, but in
India I saw an England T diqg not know,

91, During the colonial rule, the villages suffereq

97.
because there was/were

(1) no schools in the villages

(2) not enough land for agriculture
(3) not enough food for the children
(4) no jobs in the villages

(1) there Were not enough Jobs for al)
(2)  the trade Was under the colonial contre]

(3) there was a large number of Young
intellectuals

(4)  business was not ﬂourishing

However, the cities were better off than the
villages becauge ;

(1) the young men were happy

(2) the children, at least, were not hungry

(3) all children were highly educated

(4) the educated Youth got jobg

Which one of the following is true ?

(1) The Russian Peasant could compare with
the Indian Peasant,

(2) The Indian Peasants were Superior to the
Chinese pPeasants.

(3) The Chinese Peasants were better off
than the Russian Peasants.

(4) The Indian Peasant was infepior to the
Russian peasant,

The writer believes that a/an

feel sorry at the sight of thege Poor children,

(1) Russian

(2) Indian

(3) Chinese

(4) Englishman

The English rule made Indja
(1) technically rich

(2) industrial]y strong

(3) cul turally strong

(4) €conomically poor

The average life of ap Indian during the
British rule was 27 years. The result was that

PN 8o
(1) Indians married young

(2) Indians did not have many children
(3) India was full of young people

(4) Indians lived a healthy life




98. The towns and cities were frothing with
unhappy young men. The underlined phrase

means
(1) devoid of
(2) full of

(3) lacking in

(4) angry with

does the underlined word mean ?
(1) award

(2) negation

(3)
(4)

accusation

punishment

Directions : Read the given poem and answer the
questions that follow (Q. No. 100 to 105) by selecting

the most appropriate option.

I want to be with people who submerge
in the task, who go into the fields of harvest
3 and work in a row and pass the bags along,
who are not parlour generals and field deserters
but move in common rhythm

6 when the food must come in or the fire be put out.

The work of the world is common as mud.

Botched, it smears the hands, crumbles to dust.
9 But the thing worth doing well done

has a shape that satisfies, clean and evident.

Greek amphoras for wine and oil,

12 Hopi vases that held corn, are put in museums
but you know they were made to be used.
The pitcher cries for water to carry

15 and the person for work that is real.

The final indictment was inevitable. What

(45)
100.

101.

102.

103.

104,

105.

The poet seems to admire R
(1) parlour generals

(2) field deserters

(3) wage earners

(4) farm workers

What is common between parlour generals

and field deserters ?
(1)
(2)
(3)
(4)

Both love to work.

Both enjoy respect in society.
Neither of them fights.

Both of them love fighting.

What happens when work with mud gets
botched ?

(1)
(2)
(3)
(4)

It leads to satisfaction.
Hands get dirty.

No one pays for it.

It is abandoned.

The figure of speech used in lines 12 — 14 is

(1)
(2)
(3)
(4)

personification
alliteration
irony
metaphor

Mud in the hands of a good craftsman becomes

(1) a useful article
(2)
(3)

(4)

an expensive article
a work of art
a museum piece

Amphoras, vases and pitchers are metaphors
for
(1)
(2)
(3)
(4)

useful human labour
pride in wealth
items of luxury
antique art



E (46)

Directions : Answer the following questions by|110. While selecting a reading text for you

selecting the most appropriate option.

106. Anshu is teaching English to class VI students
and her class seems to be noisy. She is

probably

(1) teaching a crowded class.

(2) not bothered about the noise.
(3) having group work.

(4) not able to manage the class.

111.
107. A method is a body of that a teacher

adopts in the teaching-learning process.
(1) techniques

(2) pointers
(3) principles

(4) norms

108. One of the objectives of teaching vocabulary is
not to 112.

(1) be able to use words in different contexts.

(2) enable learners to use the dictionary.

(3) understand the meaning of words.

(4) develop active and passive vocabulary.

109. A passage explaining a place in such a way
that a picture is formed in the reader’s mind is | 1183.
called

(1) Expository
(2) Argumentative
(3) Descriptive

(4) Narrative

students, which of the following is lea.
important ?

(1) It is appropriate for their age level.

(2) It hardly gives space to think aheac
hypothesize and predict.

(3) The language of the text i
comprehensible to the learners.

(4) The content of text is accessible to th
learners to apply their own backgroun
knowledge.

Giving effective feedback to the learner:
means

(1) diagnosing problems and guiding the
learners on how to improve.

(2) giving appropriate time and space for
corrections. "

(3) focus on positive aspects as well as areas
of development.

(4) correcting their mistakes in the class.

Which one of the following recommended the
‘Three Language Formula’ ?

(1) National Policy on Education 1968
(2) National Policy on Education 1986
(3) Kothari Commission 1966

(4) Chattopadhyaya Commission 1985

Which one of the following should a teacher
not use while initiating the process writing
approach ?

(1) Drafting and revising
(2) Proof-reading before final draft

(8) Brainstorming

(4) Dictating notes
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Point out the figure of speech used in the
sentence given below :

The moon smiled at the stars around her.
(1) Metaphor

(2) Oxymoron

(3) Personification

(4) Simile

Active vocabulary consists of words which
(1) we use frequently in our daily life.
(2) are difficult.

(3) we recognise and understand.

(4) we use occasionally.

A purposeful collection of students’ work that
demonstrates their efforts, progress and
achievement in a given area is called a/an

(1) Anecdotal record
(2) Checklist

(3) Rating scale

(4) Portfolio

Every class is a mixed ability class, so while
dividing the students into different groups for
a language activity a teacher should

(1) give students different tasks according to
their strength.

(2) arrange groups differently for different
kinds of activities.

(3) put weaker and stronger students in
different groups.

(4) mix weaker and stronger students.

118.

119,

120.

Constructivist approach to learning d
emphasise

(1) that authentic task in a meaningful
context should be used. wig e

(2) that learners construct knowledge for

themselves.

(3) knowledge construction instead of

knowledge reproduction.

(4) teaching as the transmission of
knowledge from the enlightened to the
unenlightened.

A learner-centered class should not be one
where

(1) the learners should do the given exercise
silently as silence is better for learning to
occur.

(2) the learners are intrinsically interested
and are inclined to explore.

(3) the teacher acts more as another

participant in the learning process.

(4) the learner’s personal views and feelings
are taken into consideration.

Summative assessment is

(1) assessment in learning.
(2) assessment as learning.
(3) assessment for learning.

(4) assessment of learning.
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Candidates should answer questions
from the following Part only if they
have opted for ENGLISH a5
LANGUAGE - 1I.
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PART YV
LANGUAGE II
ENGLISH
Dz'reotians Reaqq the Passage Slven beloy and 121, What I8 ironie about oy, pride
Answer the Yuestions th4y Pollow (g, No. 127 4, 129) scientistg
by .s'electing th st aPProprigse Option,
(1) They B0 abroaq ¢, make g living
The Nation jg Proud of j4 SClentistg and g
scholars, thoy 5 of Course, Many of them would @) They are held in high esteem
Teply that they doubt Wwhethep the ng 101 careg fp, (3) The Ration capeg for them
€m at 4] N asked why many of oyp best and
Tightest haye gone abrpaqg to make 4 living they
Opine that this j '

best Scientigtg »
in What they say (IJ Tfheyget govemment grﬂnts
Howeye, by ang large, Compared ¢, the Situatiop (2) They start teachmg In colleges
before mdependence, 8overnmen assistance has
Provideq , tremendous opportumty for higher @) They Sy doing research
educatiopn If today Indian SClentists, technologast
and Scholarg in

123. Afier independence how has the Situatiop
changeq j, India 9
Our excellence jg evident Within the confineg
of the limiteq OPportunijtjes Which gpe available f,, o :::_ zagovemm -k “hding “flentists
research d development th Universitiog and
the Nationg) &D laboraton‘es. € believe and @ F Oreign Scholars are teaching n our
appeal thas Scientistg, Tesearcherg and scholgpg Universities
shoulq shed their Pessimigm, There are many (3) The Scientistg are given Padmg, award
Feasone for 1 4) Our System of higher educat:on has
We know the Problemg they face, especia]ly Improyeq a lot
the Younger Ones, anq also those ho are not jn
Positiong of power 1

Our scjep, tists haye Proved to pe excellent even
the lower leve] We appea] tq i

thege People to think big, becayge they are the only Jf‘""“"“""- '

ones whg Understanq the forceg of technolog'xcal (1) we have excellent Teésearch Céntrag
rnoderm'zatmn and the new energieg that cgp b

unleagheq through technologies. They 4

4) we offer them

€xcellent opportuniﬁea
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129,

(66) E

The writer wants our scientists to

(1) go abroad to make a living

(2) be optimistic in their attitude

(3) become part of the scientific community

(4) be pessimistic in their approach

Which one of the following is true ?

(1) Our scientists are respected all over the
world.

(2) We have the best research facilities in
India.

(3) We care for our scientists,

(4) Our scientists are not talented,

The writer makes an appeal to ;

(1) neither the middle nor lower level
scientists

(2) both the middle and lower leve] scientists
(3)  the middle level scientists only

(4) the lower leve] scientists only

The phrase, ‘at an explosive rate’ means

(1) at an abnormal speed

(2) at normal speed

(3) at agreat speed

(4)  with the help of an explosion

The word opposite in meaning to ‘unleashed’ is

(1) controlled
(2) unfastened

(3) inexpensive

(4) uncontrolled

Directions : Read the bassage given below and
answer the questions that follow (Q. No. 130 to 135)
by selecting the most appropriate option,

My heart grieved when I read the other day
a news item that more than two-thirds of the elderly
are being ignored in their twilight years. They are
isolated by their own children and are experiencing
loneliness in their present lives. Most of them say
they are not being respected or given good treatment
by their family or society, and they are being
discriminated against in their old age. Majority of
the elderly attributed their loneliness to no or little
With fast

changing socio-economic Scenarios, growing nuclear

interaction with family members.

families and changing value Systems, the needs of
the elderly have also changed. The most common
problems  that the elderly face are —
marginalization, lack of love and affection from their
loved ones, little or no access to medicines and
healthcare, finding it difficult to secure their life and
property. They have ng work opportunities as a
result of which they face financial problems, They
restricted

suffer  from mobility and have

psychological problems 0n account of loneliness.

To improve the situation for the elderly, the
Government of Indig may consider enacting a Jaw
to make it
compulsory for children to maintain and Jook after

like many other countries have,

their parents ang also establish the National
Commission for Elderly Persons. At the same time,
the fact remains that the real compulsion has to
come out of the bonds of affection between parents
and children. We would not be wrong in saying that
in India the joint-family system has made g
powerful contribution in cementing the bonds of
affection between the old and the young.
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The twilight years are when one is
(1) middle-aged

(2) old

(3) achild

(4) ayoung man

The elderly do not feel
(1) respected

(2) discriminated against
(3) lonely
(4) ignored

What the elderly do not lack

(1) is security of life and property
(2) is loneliness in their lives

(3) are love and affection

(4) are medicines and healthcare

Only can keep the old united with
the family.

(1) courts
(2) social compulsions
(3) joint-family system

(4) government rules

Which of the following is false ?

(1) The old love to live in extended families.
(2) The old are not very mobile.

(3) One’s needs change when one gets old.
(4) Most old people are financially secure.

Which word in the passage means the same as
‘saddened’ ?

(1) isolated
(2) restricted
(3) grieved
(4) ignored

Directions : Answer the following questions by
selecting the most appropriate option.
186. For process writing, which one of the following
points should be followed ?
(1) Use of personal pronouns
(2) Word limit
(3) Logical sequence
(4) Organisation of points

137. Problems of spelling errors of the students ca
be easily solved through
(1) dictionary
(2) dictation

(3) teaching aids
(4) textbooks

138. is a prerequisite to learning
language.
(1) Motivation

(2) Knowing words and their meanings
(3) Knowledge of grammar
(4) Reading stories

189. Cognitive Code Approach focuses more

(1) vocabulary
(2) spelling
(8) grammar rules

(4) pronunciation

140. According to which one of the follow
linguists, language cannot be sub standarc
may be non standard ?

(1) William Labov
(2) Stephen Krashen
(3) Chomsky

(4) Basil Bernstein
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146. A good listener can

Which one of the following is not a language
component ?

(1) Structure
(2) Script

(3) Vocabulary
(4) Sound

Decoding stands for

(1) deciphering the sounds in words and
sentences

(2) only recognising the difference between
sounds

(3) failure to understand the given text

(4) passing on a message to others

In order to improve the learners’

pronunciation, a teacher first needsto ______ .

(1) use recorded model of sounds

(2) show the documentary/films of the target
language

(3) ask them to read more

(4) do pronunciation drills

Intensive reading stands for

(1) reading for enrichment of vocabulary
(2) reading for developing literary sensitivity
(3) reading the text in parts for details

(4) reading for pleasure

Scanning is a reading activity which helps the

learners to from/of the text.

(1) draw out information

(2) develop competence in the linguistic
items

(8) know the meanings of the words

(4) enrich the vocabulary

147.

1“‘

14’.

150.

(1) correctly respond to every question asked
(2) pronounce each and every word correctly
(3) understand how to spell a word

(4) recognize how intonation is used

Constructivist approach to language learning
promotes

(1) a child-centred approach
(2) a teacher-centred approach
(3) culture of silence

(4) classroom noise

is the father of modern linguistics.
(1) Bloomsfield
(2) Chomsky
(3) Chaucer

(4) Ferdinand de Saussure -

A phoneme is a

(1) technique to improve pronunciation
(2) sound pattern
(3) lexical item

(4) single sound unit

In order to have language proficiency, which

one is not essentially required ?
(1) Efficiency
(2) Appropriacy
(3) Accuracy

(4) Fluency
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Candidates should answer questions
from the following Part only if they
have  opted for HINDI g5
LANGUAGE -1I.
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completely with Blue/Black Ball Point Pen on _i; fer Ohg;m qa..a; &2 t‘l}u{??ﬂﬁ@ ) il
Side-2 of the OMR Answer Sheet. The answer once (ﬁ @ /Tl | qiEe | T SR
marked is not liable to be changed. I 3 R F a1g IW g T A1 Fhar B |
2. The candidates should ensure that the Answer Sheet [ 9 gfianeff gﬁﬁaa i % 39 I 9T F WY F A0
12 not fjded. Tio nok make say Sy marks on the) b SN ¥ FE 7 W | VSw o
wer Sheet. not write your Roll No. anywhere : S P
else except in the specified space in the Answer 33 : b I o A T % At "
Sheet. ferd
3. Handle the Test Booklet and Answer Sheet with |3, gfien T§ IW U FH FEAES T i,
care, as under no circumstances (except for wHifs et ot ofifeafa & (m afiemr Efﬁ*'
e ohen Code or Numbes), nothor sof will bo| -5 SURUNSEN 1 Wi & Aromeiiui
seitided tﬁma al ulien  gfeoe Iucrew @
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Code and Number as given in the Test|y, qﬁm gferi/aT o # feu mu wften gferes @oa @
Booklet/Answer Sheet in the Attendance Sheet. g = ghendf g aF 9 Uﬁﬂ g3 § g |
5, Candidates are not allowed to carry any textual "
material, printed or written, bits of papers, pager, 5. whemfi g when we/HE Hyaw FE % fqam
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except the Admit Card inside the Examination FUd # ufal, SR, WlEEE BN, soEgiEe
Hall/Room. Iy A1 fedt 3 e f Gl H A TW A
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Hall without handing over their Answer Sheet to the 8 @ria ffiss 1 39N IW 93 ﬁl! fam Q'ﬂ
Invigilator on duty and sign the Attendance Sheet| 5 Aerref
twice. Cases where a candidate has not signed the ke i gener fopu fam 3 kil
Attendance Sheet a second time will be deemed not ga @ | afe et whemeff qu R
to have handed over the Answer Sheet and dealt B0 W wEaer E fu @t 9 wEn smem
with as an unfair means case. The candidates are 3G9 I 99 JE A & 3 IR HTEF &I
fllso reqmred tothput their left-‘l:;:lnei 'I:HU]::[B [rHeT J=1 AT | -qﬁa“eﬁ o) Y - 3*1@
impression in the space pro in the B h- T e
Attendance Sheet. o Q | wh-ow 7 faw e o
9. Use of Electronic/Manual Calculator is prohibited.
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10. The candidates are governed by all Rules and ; i 8
Regulations of the Board with regard to their|10. wian-gier # oo & fom wlendf @€ & o
conduct in the Examination Hall. All cases of unfair i ve fafedt gro fafe € gaﬁm oA &
means will be dealt with as per Rules and mﬁmmmﬂ%m@w*
Regulations of the Board. T 21T |
11. No part of the Test Booklet and Answer Sheet shall
be detached under any circumstances. 11, feet sﬁ;g # when W 3 I A BB W
AT T
12. On completion of the test, the candidate must I
hand over the Answer Sheet to the Invigilator | 12. Tfte @ g w, witenef wa/gier orgx & 7@
in the Room/Hall. The candidates are allowed IW ux wy-fltes ® srava Wi § | gderef
to take away this Test Booklet with them. T TTe 3 THHT Gicaer & & A g § |




